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General Instructions:

I. This Question paper is divided into five sections-Section A, B, C.D and E

ii. Section-A: Question no. 1 to 10 are MCQ type questions of 1 mark each.

iii. Section-B: Question no. 11 is a source-based question of 3 mark.

iv. Section-C: Question no. 12 to 15 are short answer type question, carrying 3 marks each.
iv. Section-D: Question no. 16 & 17 are long answer type questions, carrying 5 marks each.
v. Section- E: Question no. 18 is a map-based question of 5 marks.

SECTION-A
1. Which among the following is not a component of population change?
(A) Migration (B) Literacy rate (C) Birth rate (D) Death rate

2. Ellen C. Semple defines Human Geography as
(A) Relationship of Earth and technology.
(B) Synthetic study of relationship.
(C) Changing relationship between unresting man and unstable Earth.
(D) Dynamism in the relationship.

3. “Rambabu migrated from Kurmanapalam village to Kottavalasa town for earning his livelihood
better”. Identify the correct form of migration and factor:
(A) Rural to Urban due to a push factor. (B) Urban to Rural due to a push factor.

(C) Urban to Rural due to a pull factor. (D) Rural to Urban due to a pull factor.
4. The type of interaction between primitive human society and strong forces of nature was termed
as .
(A) Possibilism (B) Determinism (C) Neo determinism (D) Humanism
5. Which one of the following is not a sub- field of social geography?
(A) Medical Geography (B) Gender Geography
(C) Geography of Leisure (D) Geography of Resources
6. Natural growth rate of population is calculated by .
(A) Birth rate — Death rate (B) Birth- Death + In migration — Out Migration
(C) Death rate — Birth rate (D) In Migration + Out migration

7. ldentify the continent having highest growth rate of population.
(A) Africa (B) South America (C) Asia (D) North America

8. Read the following statements — Assertion (A) and Reason (R) and choose the answer
accordingly.
Assertion (A): Human resource is necessary for the progress of any country.
Reason (R) : Investment in education and health of people can result in a high rate of returns
in the future for a country.
(A) Both A and R are true and R is the correct explanation of A.
(B) Both A and R are true, but R is not the correct explanation of A
(C) Alistrue and R is false
(D) Ais false and R is true

9.  Which approach was initially proposed by the International Labour Organization?
(A) Income (B) Welfare (C) Basic needs (D) Capability
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If the proportion of main and marginal workers will decline in India, what would be its effects?
(A) More number of dependent people
(B) Less number of dependent people
(C) No change in number of productive people
(D) More number of productive people

SECTION-B
Read the passage and answer the following questions.
Benda lives in the wilds of the Abujh Maad area of central India. His village consists of three
huts deep in the wilds. Not even birds or stray dogs that usually crowd villages can be seen in
these areas. Wearing a small loin cloth and armed with his axe he slowly surveys the penda
(forest) where his tribe practices a primitive form of agriculture called shifting cultivation.
Benda and his friends burn small patches of forest to clear them for cultivation. The ash is used
for making the soil fertile. Benda is happy that the Mahua trees around him are in bloom. How
lucky I am to be a part of this beautiful universe, he thinks as he looks up to see the Mahua,
Palash and Sal trees that have sheltered him since childhood. Crossing the penda in a gliding
motion, Benda makes his way to a stream. As he bends down to scoop up a palmful of water, he
remembers to thank Loi-Lugi.
11.1 Identify the approach of human geography which is highlighted in the above passage.
11.2 The spirit of Loi- Lugi stands for?
11.3 What types of agriculture is practiced by Benda and his tribe?

SECTION-C
Define the term “Growth rate of population”. Describe any two phases of population growth in
India.

“Possibilities can be created within the limit, which do not damage the environment and there
is no free run without accidents”. Analyze the statement.

Discuss the three stages of Demographic Transition Theory with diagram.

Explain any three characteristics of Welfare approach of human development in the world.
SECTION-D
Discuss the factors influencing the distribution and density of population in the world.

(a) Define human development and Human Development Index.
(b) Explain any three pillars of human development.
SECTION-E
On the political map of India locate and label one state each having the following:
(a) Highest density of population.
(b) Lowest density of population.
(c) Highest urban population.
(d) Highest rural population.
(e) Growth rate of population less than 10%.
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